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Retrieving internal decision process of primates
during alternative free choice task

o Kazuhito TAKENAKA (Univ.Tokyo) Sayaka HIHARA (Riken BSI) Hiroyuki NAKAHARA (Riken BSI)
Atsushi IRIKI(Riken BSI) Yasuo KUNIYOSHI(Univ.Tokyo) Naotaka FUJII(Riken BSI)

Abstract— When we are observing people, we can often catch the intention through their behaviors. However, it is not
known how neural system contributes to it. Here we show how we can retrieve the decision making process of primates
through external observation of their behaviors while they were performing alternative free choice task. We found linear
regression model using head and torso direction could provide reliable time course of alternative decision value that
reflected monkey’ s internal decision state. The results will be useful when analyzing neural activity in relation to social
brain functions that serves continuous update of available behavioral choices in accordance with social context.
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